
PARTS LIST
DESCRIPTIONPART NUMBERQTYITEM

 Floor11
 Wood Pin22
 Base13
 Bearing14
 Plain Bearing25
 Crankshaft16
 Eccentric Hub17
 Eccentric Strap18
 Column19
 Beam110
 Cylinder111
 Inlet112
 Piston113
 Piston Rod114
 Piston Rod Head115
 Beam Linkage216
 Connecting Rod Link117
 Connecting Rod Head118
 Linkage Rod419
 Cylinder Head120
 Valve121
 Valve Linkage Rod222
 Valve Linkage Bolt123
 Valve Linkage Stud224
 Valve Linkage225
 Valve Linkage Rocker126
 Valve Linkage Dual Rocker127
 Eccentric Strap Rod128
 Eccentric Strap Head129
 Piston Support Beam130
 Piston Support Rod131
 Centrifugal Pump Housing132
 Centrifugal Pump Bearing133
 Centrifugal Pump Shaft134
 Centrifugal Pump Impeller135
 Centrifugal Pump Cover136
 Pulley137
 Centrifugal Pump Pulley138
Split PinDIN 94 - 2 x 12139
Single row ball bearingsDIN 625 SKF - SKF 61900140
Cylinder Head Cap ScrewDIN 912 - M6 x 16841
Hexagon Socket Set ScrewDIN 913 - M3 x 4242
Hexagon Socket Set ScrewDIN 913 - M4 x 10243
Hexagon Domed Cap NutsDIN 1587 - M4144
Retaining WasherDIN 6799 - 3,2845
Retaining WasherDIN 6799 - 8146
Cross Recessed Pan Head Machine ScrewISO 7045 - M4 x 16 - 4.8 - H247
Hexagon socket countersunk head cap screwsDIN 7991 - M6x40148
Parallel KeyDIN 6885 - A 3 x 3 x 22149
 V-Belt150
Thin parallel keysISO 2491 - A  5 x 3 x 14151

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

InventorWizard .b
e/

.n
l

Drawingnumber: Sheet:

Project:

Scale:

SheetSize: A1

Name: Date:
Designer: Galba, J. 1/12/2010
Approved: Galba, J. 13/01/2010

Design State:

Released

0001 

Revision Date Description

Miniature Model Steam Engine
Title:

Beam Engine with Centrifugal Pump

Engineered by:

 

Assembly

Material:

Total Mass: 10,645 kg

 

 

Revisions only
permitted by CAD

Break Sharp Edges: 0,1 mm

Th
is 

do
cu

me
nt

 is
 f
or

 e
du

ca
tio

na
l p

ur
po

se
s 

on
ly
 a

nd
 p

ro
pe

re
ty

 o
f 
Inv

en
to

r 
W
iza

rd
.

It 
sh

al
l n

ot
 w

ith
ou

t 
ou

r 
pe

rm
iss

ion
 b

e 
al
te

re
d, 

co
pie

d,
 u

se
d 

fo
r 
ma

nu
fa

ct
ur

ing
 o

r 
co

mm
un

ica
te

d 
to

 a
ny

 o
th

er
 p

er
so

n 
or

 c
om

pa
ny

.

Corresponding symbols

Roughness Classes ( NBN 88-02 ) ( ISO 1302 )

Roughness Value "Ra" in µm ( NBN 88-02 ) ( ISO 1302 )

Allowable deviations for dimensions without tolerance indication (machined surfaces)

f Fine

m Medium
c Rough

v Very Rough

Accuracyclass
(ISO 2768.1)

N11 N7N8N9N10 N4N6 N5

Angles ( in ° and ' )Fillets and chamfers

Length of the shortest legDimensions in mm

to
10

>10
to
50

>50
to
120

>120
to
400

above
400

6,312,525 0,40,81,63,2 0,2

±1° ±20'±30' ±10' ±5'

±1°30' ±1° ±15'±30' ±10'

±3° ±2° ±1° ±30' ±20'

0,5
to
3

>3
to
6

>6
to
30

>30
to
120

>120
to
400

±1±0,5±0,2 ±2 ±4

±0,4 ±1 ±2 ±4 ±8

For measurements ( deviations in mm )

Dimensions in mm
0,5
to
3

>3
to
6

>6
to
30

>30
to
120

>120
to
400

>400
to

1000

>1000
to

2000

>2000
to

4000
±0,05 ±0,05

±0,1 ±0,1

±0,1 ±0,15

±0,2 ±0,3

- ±0,5

±0,2

±0,5

±1

±0,3

±1,5

±0,8

±0,2

±0,5

±1,2

±2,5

±0,3

±0,8

±4

±2

±0,5 ±0,8

±1,2 ±2

±4±3

±6 ±8

11 3

6

7

8

943

10

1112

13

15

16

250

1718454519

20

26 24 25 22

27

23

29

39

2831

14

3240 34333536 41

19

30

44

46

42

47

21

42

38

48 4 41
20

0

21
5

37

50

5


